EAGRAROBREERT — 2 N— ABISH —F 20201 818H () 19m£E1H

m’fﬁ%ﬁﬁé‘ #5% 3K EEDE IR
[A&4£] 1 7 :800,000 3 ~ 2 3#&:240,000  ~ 33#&:80,000H ~ 43#%&:48,000™” . 5 3&:32,000H
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N . ii{m}2 :57. -3-1- . - REM (&B)
1lgli| g1v>onz #H 3 i 1(5_7)1 4-3-1-1 | 37.9 2 :1:136) %Lﬂ‘:—i "
R:A—Y XA 224 B:Tvyva & RS
: NE 4 3 | BERt 1:57.4 9-8-3-2 |37.5| — 3 501 | EBXTE (EB)
2|55 F FIFI 56.0 (1172 Lo |EBEX
RTINS Y R BAHHFRS ity KA
o G ER : ~5-5-. — HETE (&H)
N BEZEETEL # 3 | B 7 A e VG maEE T
R:G8>h—v Bw1ITLA fEeR B—
15 # 3 | AREZ 1:58.6 6-6-6-6 |38.5| — 4 513 | KIEBK (1£8)
41812/ TNTF VY 56.0 @ 7) |HO=EA
R:AfauK—F— B:=i/dvER 791 h 77— L
R # 3 | RBEEZ 1:58.6 2-2-2-5 [39.2| — 6 437 | KBEX (1£8)
EH g| N~ 56.0 (74%) () | EAER
L:ECTFAYY BTV EINILA WERT7— L
=9 4 3 | BHEA 1:59.0 1-1-4-3 | 39.4| — 8 545 | FBEF (1E8)
67|10 7UZ > 56.0 @) ) ElEa
LT RIA Y L= BXAT7I-vq > A #a
TR 43 | R 2:01.1 7-7-7-7 | 40.5| — | 12 | 439 |MHEZ (EH)
7l5|g|TF—Fva 56.0 (21 4) (1) |BREX
L:aZ /XLy b BiULN=U—2 Eolz:Ese]
=5 i 3 | AR 2:02.1 10-10-8-8 | 41.1| — 5 445 |WITFEX (£H)
EE 2| varrs: e ® 5 |HO=L
R:AVAHHL IR B:RAVv—bYz—T [T w73
R BER— :02. -9-10- . - JIBEZEF (£8)
ol ey =2 B3 R 2(042)9 8-9-10-9 | 41.3 9 ;1_2;) Nmre 8
L:ZZXHNT1=v IR B:x—T14y M)TIL EFEKRKT7— L
-3 = 4 3 | ETH 2:03.1 3-4-9-10 |42.0| — 10 | 440 |=E=AN (EH)
10k 3| =%V 77 54.0 ) (-g) | ERE
R84 LIST Ry TZX B:vY I/ TLLA w/F B
= R s : -12-12- — Jeatnrts (1£8)
1 NE LD i 3 e 2.833.3 12-12-12-12| 40.5 1 (3_913) FrAtlis ®
R:ECTFAYY B:UTRE— KEH
S o3 | EAKERE 2:04.0 M-11-11-11] 41.9 | — 7 495 | FEARET (1£H)
1217]9 | BT/ LYY 56.0 ) (-3 |TERER
R:xATr o R=—L B:T1F—1N—F1 TR 88
@ 1—F—@&BIEf
==F= 10,8,3,11,7,12,6,1,5,2,9,4
20—7— 10,8,11,3,7,12,6,5,1,2,9,4
30—7+— 11,8,5,10,7,12,6,2,3,1,9,4
43— — 11,5,10,7,8,12,6,2,1,3,9,4
[ RN
B OB 1 450M 714K 5-11 250M e & 5-8 530M 3ER 5-7-11 410M
7 B 1 110 7-11 160 | | BB & 5-11 1,010/ | | 38 11-5-7 4,140M
5 130M4 5-7 200M B H 11-5 1,690M
7 100M4

ARICOVWTRDTEEERROODE. TR LI,



